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ANSWER ALL QUESTIONS 

1. Explain about Cancelation law in a ring R. 

 Ð@þËÄ¶ý$Ð@þ¬ R  ÌZ MösìýtÐóþ™èþ ¯éÅÄ¶ý$Ð@þ¬ @̄þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

2. Show that a field has no zero divisors. 

 „óü{™èþÐ@þ¬  Ô¶ý* @̄þÅ¿êfMæü Ææÿíßý™èþÐ@þ¬ è̂þ*ç³#Ð@þ¬. 

3. Show that homomorphic image of a ring is a ring. 

 Ð@þËÄ¶ý$Ð@þ¬ Äñý¬MæüP çÜÐ@þ$Ææÿ*ç³™é {ç³†¼…ºÐ@þ¬ JMæü Ð@þËÄ¶ý$Ð@þ$° è̂þ*ç³#Ð@þ¬. 

4. Show that the homomorphic image of a commutative ring is a Commutative. 

 JMæü Ñ°Ð@þ$Ä¶ý$ Ð@þËÄ¶ý*°Mìü çÜÐ@þ$Ææÿ*ç³™é {ç³†¼…ºÐ@þ¬, JMæü Ñ°Ð@þ$Ä¶ý$ Ð@þËÄ¶ý$Ð@þ$° è̂þ*ç³#Ð@þ¬. 

5. Show that the vectors (1,1,0,0), (0,1,-1,0), (0,0,0,3) in �� are linearly independent. 

 ��  ÌZ (1,1,0,0), (0,1,-1,0), (0,0,0,3) Ë$ º$$k ÝëÓ™èþ…{™èþÅÐ@þ$° è̂þ*ç³…yìþ. 

6. Define Linear transformation of a vector space V(F) into Vector space W(F). Give 

an example of linear transformation. 

 º¬k ç³ÇÐ@þÆæÿ¢̄ @þ° °ÆæÿÓ_… è̂þ…yìþ. (�(�� → 	(��� º¬k ç³ÇÐ@þÆæÿ¢̄ @þMæü$ JMæü E§éçßýÆæÿ×ý°Ð@þ¬Ã. 

7. Find the characteristic roots of the matrix 
5 6 80 7 20 0 4� 

 
5 6 80 7 20 0 4� Ð@þ*{†Mæü Äñý¬MæüP Ìê„æü×ìýMæü Ð@þÊË… Mæü @̄þ$MøP…yìþ. 

8. Show that the matrix � = �3 44 3� is diagonalizable matrix. 

 � = �3 44 3� Ð@þ*{†Mæü @̄þ$ ÑMæüÈ~Äæý$ Ð@þ*{†Mæü A° è̂þ*ç³…yìþ. 
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1.  (a) Prove that ��√2� = {� + �√ 
!,   �∈$} is a field with respect to addition and 

multiplication of numbers. 

  çÜ…QÅËOò³ çÜ…MæüË @̄þ, Væü$×ýM>ÆæÿÐ@þ¬Ë™ø ��√2� = {� + �√ 
!,   �∈$ JMæü „óü{™èþÐ@þ$Væü$ @̄þ° è̂þ*ç³#Ð@þ¬. 

   

 (b) (i) Define Kernal of a homomorphism on rings. 

  (ii) State and prove fundamental of homomorphism on rings. 

  (i) Ð@þËÄ¶ý$ çÜÐ@þ$Ææÿ*ç³™èþ MðüÆæÿ²ÌŒý (A…™èþçÜ¦Ð@þ¬) @̄þ$ °ÆæÿÓ_…ç³#Ð@þ¬. 
  (ii)  Ð@þËÄ¶ý*Ë çÜÐ@þ$Ææÿ*ç³™èþËOò³ {´ë£æþÑ$Mæü íÜ§é®…™èþÐ@þ¬ (Fundamental theorem) @̄þ$ 
{ç³Ð@þ_…_, °Ææÿ*í³… è̂þ$Ð@þ¬. 

2. (a) (i) Prove that the set of all ordered n–types over a field F is a vector space. 

  (ii) Prove that a system consisting of a single non-zero vector is always 

linearly independent. 

  (i) F „óü{™èþ…Oò³  -n A¨Ô¶ýË “MæüÐ@þ$çÜÑ$† çÜ¨Ô>…™èþÆ>â¶ý… AÐ@þ#™èþ$…§æþ°  è̂þ*ç³…yìþ. 
  (ii)  JMóü JMæü Ô¶ý* ó̄þÅ™èþÆæÿ çÜ¨Ô¶ý º$$kÝëÓ™èþ…{™èþÅ çÜÑ$†° HÆæÿµÆæÿ$ è̂þ$ @̄þ° è̂þ*ç³…yìþ. 

   

 (b) (i) Express the vectors % = (1, −2,5� as a linear combination of vectors () = (1,1,1�, ( = (1,2,3�, (* = (2, −1,1�. 
  (ii) Show that the mapping ,: � (�� → �*(�� defined as ,(�, .� = (� + ., � −., .� is a linear transformation from � (�� into �*(��. Find the range, 

rank, nullspace and nullity of T. 

  (i) % = (1, −2,5� A @̄þ$ çÜ¨Ô¶ý @̄þ$ () = (1,1,1�, ( = (1,2,3�, Ð@þ$ÇÄ¶ý¬  (* = (2, −1,1� 
çÜ¨Ô¶ýË  º$$kçÜ…Äñý*Væü…V> {ÐéÄ¶ý$…yìþ. 
  (ii)  ,: � (�� → �*(�� { ç³Ðóþ$Ä¶ý*°² ,(�, .� = (� + ., � − ., .� °ÆæÿÓ_õÜ¢, T ° 
º$$kç³ÇÐ@þÆæÿ¢̄ @þÐ@þ$°  
    è̂þ*ç³…yìþ.  T Äñý¬MæüP ÐéÅí³¢, ç³ÇÐ@þÆæÿ¢̄ @þ Møsìý, ç³ÇÐ@þÆæÿ¢̄ é Ô¶ý*¯éÅ…™èþÆ>â¶ý… Ð@þ$ÇÄ¶ý¬ ç³ÇÐ@þÆæÿ¢̄ @þ 
Ô¶ý* @̄þÅ™èþ Mæü @̄þ$MøP…yìþ. 



  

   

  

 

3. (a) (i) State and prove Cayley–Hamilton theorem. 

  (ii) Find the rank of the matrix � = 
1 −1 3 61 3 −3 −45 3 3 11� 
  (i) MóüÎ & õßýÑ$Ët̄ Œþ íÜ§é®…™èþÐ@þ¬ @̄þ$ {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ…yìþ. 

  (ii)  � = 
1 −1 3 61 3 −3 −45 3 3 11� Oò³ Ð@þ*{†Mæü Äñý¬MæüP Møsìý°  Mæü @̄þ$MøP…yìþ. 

   

 (b) (i) Find the characteristic equation of the matrix � = 
 2 −1 1−1 2 −11 −1 2 � and 

verify that it is satisfied by A. 

  (ii) Find �/) if � = 
3 1 12 4 21 1 3� 
  (i) � = 
 2 −1 1−1 2 −11 −1 2 � Oò³ Ð@þ*{†Mæü Äñý¬MæüP Ìê„æü×ìýMæü çÜÒ$MæüÆæÿ×ýÐ@þ¬ @̄þ$ Mæü è̄þ$MøP…yìþ. D 

Ìê„æü×ìýMæü çÜÒ$Mæü…Ææÿ×ýÐ@þ¬ A çÜ…™èþ–í³¢ ç³Ææÿ$çÜ$¢…§æþ° è̂þ*ç³…yìþ. 

  (ii)  Oò³ Ðèþ*{†Mæü è̄þ$ Mæü è̄þ$MøP…yìþ. 

4. (a) (i) State and prove Cauchy–Schwarz's inequality. 

  (ii) State parallelogram law. 

  (i) MøíÙ & ÚëtÆŠÿj AçÜÐ@þ* @̄þ™èþ íÜ§é®…™èþÐ@þ¬ @̄þ$ {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ$Ð@þ¬. 
  (ii)  çÜÐ@þ*…™èþÆæÿ è̂þ™èþ$Ææÿ$Âf… ¯éÅÄ¶ý$… @̄þ$ {ÐéÄ¶ý¬Ð@þ¬. 

  

 (b) (i) Define Jordan curve. 

  (ii) Apply Gram–Schmidt process to obtain an ortho–normal basis of �*(�� 

from the basis {(1,0,1), (1,0,-1), (0,3,4)}. 

  (i) gZÆæÿz̄ Œþ Ð@þ“Mæü…¯@þ$ °ÆæÿÓ_… è̂þ…yìþ. 
  (ii)  �*(�� A…™èþÆ>â¶ýÐ@þ¬ Äñý¬MæüP {(1,0,1), (1,0,-1), (0,3,4)} B«§éÆ>Ë¯@þ$, “V>ÐŒþ$ & íÜPüÃyŠþ    

———————— 
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1. Construct finite forward difference table for the function � = ��. 

 � = ��  {ç³Ðóþ$Ä¶ý*°Mìü ç³ÇÑ$™èþ ç³#ÆøVæüÐ@þ$ @̄þ Ð@þÅ™éÅçÜ ç³sìýtMæü @̄þ$ °ÇÃ… è̂þ…yìþ. 

2. Prove that �� = �∆	


 � �� ∙ 

�

∆	
� 

 �� = �∆	


 � �� ∙ 

�

∆	
�    A° °Ææÿ*í³… è̂þ…yìþ. 

3. If  �� = 3, �� = 12, �� = 81, �� = 200, �� = 100, �� = 8 find the value of ∆���. 

 �� = 3, �� = 12, �� = 81, �� = 200, �� = 100, �� = 8    AÆÿ¬™óþ ∆��� ÑË$Ð@þ¯@þ$ Mæü¯@þ$MøP…yìþ. 

4. Prove that � = 1 + �
� �� 

 � = 1 + �
� ��  A° °Ææÿ*í³… è̂þ…yìþ. 

5. Explain Iteration method 

 C{sôýçÙ¯Œþ ç³§æþ®†° ÑÐ@þÇ… è̂þ…yìþ. 

6. Write Everrtt's formula 

 HÐ@þÆŠÿtÞ çÜ*{™é°² {ÐéÄ¶ý$…yìþ.  

7. Explain Simpson's ⅜th rule. 

 íÜ…ç³Þ Œ̄þÞ ⅜th rule @̄þ$ ÑÐ@þÇ… è̂þ…yìþ.  

8. Explain Matrix inverse method. 

 Ð@þ*{†M> ÑÌZÐ@þ$ ç³§æþ®†° ÑÐ@þÇ… è̂þ…yìþ. 

  



  

   

  

 

(DSMAT32) 

ASSIGNMENT-2 

B.Sc. DEGREE EXAMINATION, DECEMBER 2020 

Third Year 

Mathematics 

Paper – IV : NUMERICAL ANALYSIS 
MAXIMUM MARKS : 30 

ANSWER ALL QUESTIONS 

1.  (a) (i) Construct backward difference table from the data. Assuming third 

difference to be constant, find the value of sin 25°. 
   sin 30° = 0.5000, sin 30° = 0.5736, sin 40° = 0.6428, sin 45° = 0.7071. 
  (ii) Evaluate (1) ∆�(��  (2) )( + 2*)( − 1*)�� + �*. 
  (i) “Mìü…¨ §æþ™é¢…Ô¶ýÐ@þ¬ @̄þ$ Eç³Äñý*W…_, †ÆøVæüÐ@þ$¯@þ Ð@þÅ™éÅçÜ ç³sìýtMæü @̄þ$ ™èþÄ¶ý*Ææÿ$ ó̂þíÜ, A…§æþ$ÌZ                  

3 Ð@þ Ð@þÅ™éÅÝë°²  íÜ¦Æ>…Mæü… A @̄þ$Mö° sin 25° ÑË$Ð@þ @̄þ$ Mæü¯@þ$MøP…yìþ.  
    sin 30° = 0.5000, sin 30° = 0.5736, sin 40° = 0.6428, sin 45° = 0.7071. 
  (ii) (1) ∆�(��   (2)  )( + 2*)( − 1*)�� + �*  ÑË$Ð@þË @̄þ$ Mæü @̄þ$MøP…yìþ 

   

 (b) (i) State and prove Lagrange's interpolation formula. 

  (ii) Using divided difference table, find ,)�*, which takes the values 

1, 4, 40, 85 at � = 0, 1, 3, 4. 
  (i) Ìñý“V>…gŒý A…™èþÆóÿÓÔ¶ý @̄þ çÜ*{™é°² {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ…yìþ. 

  (ii) � = 0, 1, 3, 4 Ð@þ§æþª ,)�* = 1, 4, 40, 85 AÆÿ¬™óþ, Ñ¿êh™èþ Ð@þÅ™éÅçÜ ç³sìýtMæü §éÓÆ> ,)�* ̄ @þ$ 
   Mæü¯@þ$MøP…yìþ. 

2. (a) State and prove Gauss Backward Interpolation formula. 

  Vú‹Ü A…™èþÆóÿÓÔ¶ý @̄þ çÜ*{™é°² {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ…yìþ. 

   

 (b) (i) Use Sterling's formula to find �- given that �� = 525, �. = 4316, ��� =
3256,  ��. = 1926, ��� = 306. 

  (ii) Find the value of ��� using Bessle's Formula if ��� = 2854, ��� = 3162, 
 ��0 = 3544, ��� = 3992.  

  (i) òÜtÇÏ…VŠü çÜ*{™é°² Eç³Äñý*W…_, �- ÑË$Ð@þ @̄þ$ “Mìü…¨ ÑË$Ð@þË §éÓÆ> Mæü¯@þ$MøP…yìþ. 
�� = 525, �. = 4316, ��� = 3256, ��. = 1926, ��� = 306. 

  (ii) ��� = 2854, ��� = 3162, ��0 = 3544, ��� = 3992  AÆÿ¬™óþ, »ñýçÜÞÌŒýÞ çÜ*{™é°²                                    
Eç³Äñý*W…_      



  

   

  

 

3. (a) Using Romberg's integration, Calculate 1 �
234 � 5�½

�  Correct to 4 decimal places. 

  Æ>…ºÆŠÿY çÜÐ@þ*MæüË° 1 �
234 � 5�½

�   ° 4 decimal Ýë¦̄ éËÌZ Calculate ó̂þÄ¶ý$…yìþ. 

   

 (b) Evaluate 1 √1 + ���
� 5� using Simpson's ⅜th rule. 

  1 √1 + ���
� 5� @̄þ$ íÜ…ç³Þ Œ̄þÞ ⅜th rule §éÓÆ> Mæü @̄þ$MøP…yìþ. 

4. (a) (i) Find a real root of the quation �� − 3� + 5 = 0 using Newton's Rapson's 

method. 

  (ii) Find a real root of � = �
)�8�*	 by Iteration method. 

  (i) @̄þ*År Œ̄þ &Æ>ç³Þ Œ̄þ ç³§æþ®†° Eç³Äñý*W…_ �� − 3� + 5 = 0 çÜÒ$MæüÆæÿ×ýÐ@þ¬ Äñý¬MæüP JMæü 
ÐéçÜ¢Ð@þ  Ð@þÊÌê°²  Mæü @̄þ$MøP…yìþ.  

  (ii) ç³#¯@þÆæÿ$Mæü¢ ç³§æþ®† §éÓÆ> � = �
)�8�*	 @̄þMæü$ JMæü ÐéçÜ¢Ð@þ Ð@þÊÌê°² Mæü @̄þ$MøP…yìþ. 

   

 (b) (i) Solve the system by the method of factorisation � + 3� + 89 = 4, � +
4� + 39 = −2, � + 3� + 49 = 1.  

  (ii) Explain Gauss Elimination method. 

  (i) “Mìü…¨ çÜÒ$MæüÆæÿ×ýÐ@þ¬Ë @̄þ$ factorisation ç³§æþ®†ÌZ Ýë«̈ … è̂þ…yìþ. 
   � + 3� + 89 = 4, � + 4� + 39 = −2, � + 3� + 49 = 1.   
  (ii) Vú‹Ü & GÍÑ$ ó̄þçÙ¯Œþ ç³§æþ®†° ÑÐ@þÇ… è̂þ…yìþ. 

———————— 
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1. Explain the working of half wave rectifier and derive expressions for ripple factor 

and efficiency. 

 AÆæÿ¦ ™èþÆæÿ…Væü HMæü¨M>PÇ ç³° ^óþÄæý$$ Ñ«§é¯èþÐèþ$$ è̄þ$ ÑÐèþÇ…_ Ççœ#ÌŒý M>ÆæÿMæü… è̄þ$ Ðèþ$ÇÄæý$$ §æþ„æü™èþMæü$ 
çÜÐèþ*çÜÐèþ$$Ë è̄þ$ Æ>ºr$tÐèþ$$. 

2. (a) Explain the working of series regulated power supply. 

  {Ôóý×ìý °Äæý$…{†™èþ Ñ§æþ$Å™Œþ çÜÆæÿçœÆ> ç³° ó̂þÄæý$$ Ñ«§é¯èþÐèþ$$ è̄þ$ ÑÐèþÇ…^èþ$Ðèþ$$. 
 (b) Explain the operation of class B push pull amplifiers. 

  Class B ç³#‹Ù ç³#ÌŒý ÐèþÆæÿ¦MæüÐèþ$$ Äñý$$MæüP ç³° ¡Ææÿ$¯èþ$ ÑÐèþÇ… è̂þ…yìþ. 
3. (a) Explain Op-Amp’s CMRR and slew rate. 

  ç³ÇÐèþÆæÿ¦MæüÐèþ$$ Äñý$$MæüP CMRR Ðèþ$ÇÄæý$$ slew rate è̄þ$ ÑÐèþÇ… è̂þ…yìþ. 
 (b) Explain Op-Amp as voltage regulator. 

  ç³ÇÐèþÆæÿ¦MæüÐèþ$$ è̄þ$ ÐøÌôýtgŒý °Äæý$…{™èþ™èþV> ÑÐèþÇ…ç³#Ðèþ$$. 
4. (a) Give the analysis of dumming amplifier. 

  Summing ÐèþÆæÿ¦Mæü… Äñý$$MæüP ÑÔóýÏçÙ×ý CÐèþÓ…yìþ. 
 (b) Explain the ideal characteristics of on Op-amp. 

  ç³ÇÐèþÆæÿ¦MæüÐèþ$$ Äñý$$MæüP B§æþÆæÿØ Ë„æü×êË$ ÑÐèþÇ…^èþ…yìþ. 
5. Using op-amp solve second order differential equation. 

 Æðÿ…yæþÐèþ çœ*™é…Mæü BÐèþMæüË è̄þ çÜÒ$MæüÆæÿ×ýÐèþ$$ è̄þ$, ç³Ç{MìüÄæý* ÐèþÆæÿ¦Mæü… è̄þ$ Eç³Äñý*W…_ Ýù«̈ …^èþ$Ðèþ$$. 
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1.  (a) What is electromagnetic spectrum? Write application of microwaves. 

  Ñ§æþ$Å™Œþ AÄæý$ÝëP…™èþ òÜµ[MæütÐŒþ$ A…sôý HÑ$sìý? Ððþ$O{MøÐóþÐŒþÞ Äñý$$MæüP A è̄þ$ÐèþÆæÿ¢̄ éË è̄þ$ {ÐéÄæý$…yìþ. 
 (b) Give the properties of Radio waves. Explain about radio broadcasting. 

  ÆóÿyìþÄñý* ™èþÆæÿ…V>Ë Äñý$$MæüP AÀË„æü×êË è̄þ$ {ÐéÄæý$…yìþ. ÆóÿyìþÄñý* {ç³ÝëÆæÿÐèþ$$ Væü*Ça ÑÐèþÇ…^èþ…yìþ. 

2. Explain the working of super heterodyne receiver with block diagram. 

 çÜ*ç³ÆŠÿ òßýsñýÆøyðþŌ èþ$ {V>çßýMæüÐèþ$$ ç³° ó̂þÄæý$$ Ñ«§é è̄þÐèþ$$ è̄þ$ çÜ*¦Ë _{™èþÐèþ$$ çÜàÄæý$…™ø ÑÐèþÇ…^èþ$Ðèþ$$. 

3. (a) Explain the method to convert hexadecimal to binary and vice versa.  

  çÙÚëx §æþÔ>…Ôèý çÜ…QÅ è̄þ$ H Ñ«§æþ…V> §éÓ…Ôèý ç³§æþ®†ÌZMìü Ðèþ$ÇÄæý$$ §éÓ…Ôèý çÜ…QÅ¯èþ$ ççÙÚëx §æþÔ>…Ôèý 

çÜ…QÅV>  

H Ñ«§æþÐèþ$$V> Ðèþ*Ææÿaºyæþ$™èþ$…§ø ÑÐèþÇ… è̂þ…yìþ? 

 (b) Explain about 8421 code (BCD). 

  8421  MøyŠþ Væü*Ça ÑÐèþÇ… è̂þ…yìþ (BCD). 

4. (a) Explain the working of TTL logic with circuit diagram. 

  ÐèþËÄæý$ ç³sìýtMæü™ø TTL ™èþÆæÿP… ç³° ¡Ææÿ$ è̄þ$ ÑÐèþÇ…^èþ…yìþ. 
 (b) Explain the working parallel adder. 

  çÜÐèþ*…™èþÆæÿ Adder Äñý$$MæüP ç³° ¡Ææÿ$ è̄þ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 
5. (a) Explain about decade countries with truth tables. 

  yìþMóüyŠþ Mú…rÆŠÿ è̄þ$ çÜ™èþÅ ç³sìýtMæüË™ø ÑÐèþÇ…^èþ…yìþ. 
 (b) Explain about shift registers with neat diagrams. 

  íÙ‹œt ÇhçÜtÆŠÿÞ Äñý$$MæüP ç³° ó̂þÄæý$$ Ñ«§é è̄þÐèþ$$ è̄þ$ è̂þMæüPsìý ÐèþËÄæý$…™ø ÑÐèþÇ… è̂þ…yìþ. 
–––––––––––––––– 
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1. Draw the internal architecture of 8085 microprocessor. Explain the functions of 

different blocks. 

2. (a) Write different types of memory. 

 (b) Distinguish between memory mapped I/O and I/O mapped I/O memory 
interfacing. 

3. (a) Explain various interrupts of 8085 microprocessor. Write priorities of 

interrupts. 

 (b) Draw the interrupt structure of 8085 microprocessor. 

4. Explain arithmetic group of instructions of 8085 microprocessor. 

5. Write an Assembly Language Program to perform multiplication of two 8-bit 

numbers. 
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1. Write an Assembly Language Program to convert the given binary number of BCD 

number. 

2. (a) Draw the block diagram of 8255 A programmable peripheral interface. 

 (b) Draw I/O and BSR control word formats of 8255 A. 

3. Draw the block diagram of 8259 programmabe interrupt controller and explain 

operation of each block. 

4. Explain the interfacing of digital to analog converter with 8085 microprocessor. 

5. Explain the interfacing the stepper motor with 8085 microprocessor. 

—————— 
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1.  What are the applications of Database? 

2.  What are the rules of modeling? 

3.  Give an example for super type and sub type. 

4.  How can you processing single table? 

5.  What are the Data Dictionary Facilities? 

6.  What are the advantages of Database Approach? 

7.  Give an example for Advanced Normal Forms. 

8.  How can you construct ER-model? 

9.  Write a procedure to updating and deleting data from Table. 

10.  Explain about client/server Architecture. 
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1.  Database development process 

2.  Three-schema Architecture 

3.  Business Rules 

4.  EER modeling 

5.  Designing physical records and denormal system. 

6.  Query performance 

7.  Examples for dynamic SQL. 

8.  Examples for Sub Routines. 

9.  Middleware use 

10.  Role of DBA. 

—————— 
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1. What is IDE? Explain about starting the visual C++ IDE. 

 IDE A è̄þV> ó̄þÑ$? Visual C++ IDE start ^óþÄæý$$r Væü*Ça ÑÐèþÇ…ç³#Ðèþ$$. 

2. Explain about the file menu and insert menu of VC++. 

 VC++ Äñý$$MæüP file menu Ðèþ$ÇÄæý$$ insert menu Væü*Ça ÑÐèþÇ…ç³#Ðèþ$$. 

3. Explain about advanced visual C++ features and debugging programes. 

 Advanced visual C++ features Ðèþ$ÇÄæý$$ debugging programes Væü*Ça ÑÐèþÇ…ç³#Ðèþ$$. 

4. Explain about input and output for character and string. 

 Character Ðèþ$ÇÄæý$$ string Äñý$$MæüP input Ðèþ$ÇÄæý$$ output Væü*Ça ÑÐèþÇ…ç³#Ðèþ$$. 

5. Explain about character functions and string functions. 

 Character functions Ðèþ$ÇÄæý$$ string functions Væü*Ça ÑÐèþÇ… è̂þ…yìþ. 
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1 Explain about procedure oriented windows applications and windows applications 

using the MFC. 

 MFC Eç³Äñý*W…_ procedure oriented windows applications Ðèþ$ÇÄæý$$ windows 

applications ÑÐèþÇ…^èþ…yìþ. 

2 Explain about Application and Class wizards. 

 Application Ðèþ$ÇÄæý$$ Class WizardsË Væü*Ça ÑÐèþÇ… è̂þ…yìþ. 

3 Explain about OLE features and specifications. 

 OLE features Ðèþ$ÇÄæý$$ specifications Væü*Ça ÑÐèþÇ… è̂þ…yìþ. 

4 Explain the creation of a simple Active-X control with the MFC. 

 MFC™ø simple Active-X control çÜ–íÙt… è̂þ$r è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 

5 Explain : 

 (a) Rewind( ) 

 (b) Bitmaps 

 (c) Custom Icons. 

 ÑÐèþÇ…^èþ…yìþ : 

 (a) Rewind( ) 

 (b) ¼sŒýÐèþ*Å‹³Ë$ 

 (c) MæüçÜtÐŒþ$ IM> Œ̄þË$. 

––––––––––––––– 


